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1. The concrete wall ABC is subjected to a distributed load p(z) shown below and is supported
by two struts that can be modelled by springs. The wall has a width of 5m. Determine the force
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of each spring. Assume the wall is rigid and undergoes small displacement. Point A is a hinge.

2. As shown below, force P is applied on a uniform crate of weight # and width b . Assume the
frictional coefficient of the ground is g,. If force P is increased gradually, what will be the

largest elevation % of P to insure slipping rather than tipping will occur first? (25%).
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3. It is known that the tension in the cable BH is 450N. Compute the following items: (1) the
moment of tension force BH about point A. (2) The moment of tension force BH about line
AD. (3) The perpendicular distance between the line AB and cable BIL (Note that joint H is
located on x-y plane and member ACD is located on x-z plane. Joints A and D are ball-and
socket joints.) (25%=10+10-+5%)
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4. A 10-m boom is acted upon by the 4-kN force shown below. Determine (1) the tension in each
cable and (2) the reaction at the ball-and-socket joint at A. (Note that joints A, D and E are all
located on y-z plane.) (25%=15+10%) :




